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The new interactive technologies of communication, especially the Internet, offer a
rapid __1  of communication with other individuals __2__ may be spatially distant.
The cost of communication across distance is almost completely removed. _ 3 |
these new technologies may allow relatively unalike individuals to interact, such as the
homed and homeless people in a community, who would _4  not be in
communication with one another. For many individuals who use the Internet, this

communication technology is _ 5 in cost.

) (@) mean (b) means (c) meaning (d) meanings

) (@) which  (b) who (c) whose (d) whom

) (a) Further (b) Farther (c) Ever (d) More

) (@) otherwise (b) relevant (c) related (d) likewise

) (@) none free nor very cheap (b) no free nor very cheap (c) neither free nor
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very cheap (d) either free or very cheap

Technology is a catalyst for a changing world. It is a world increasingly _ 6 by
interactive media, global systems of communication and instantaneous __ 7 to
information. How we respond to this changing world as teachers and leaders may
define how well society _ 8  the challenges of the 21% century and _ 9 . Never
before __ 10 _ journalism and mediated communication been more central to civil
society.

6. () (a)shape (b)shapes (c)shaped (d) been shaped
7. () (a)act (b)action (c)active (d)access



8. () (a)copes (b)copesto (c)copeswith (d)copes at
9. ( ) (a)beyond (b)yonder (c)ago (d)since
10. () (@)do (b)does (c)has (d)have

At a beach in southern France, a little boy, obviously sent by his parents, __ 11
Picasso with __12 and begged the artist for a small, autographed drawing. Picasso
thought for a moment, __ 13 tore up the paper, took some color crayons, drew
designs on the boy’s chest and back, signed his “work” and sent the __14 back to his
parents. “l wonder,” said the artist __15  mischievous smile, “if they’ll ever wash

him again.”

11. () (a) approach (b) approaches (c) approaching (d) approached

12. () (a) athread of paper (b) a sheet of paper (c) a lock of paper (d) a tin of paper
13. () (a)but (b)while (c)then (d)though

14. () (a) youngster (b)adult (c) man (d) baby

15. () (@ with (b)on (c)all (d)very

The refrain is an important component in songs and poems. By repeating a part of a
song or a poem, the songs and poems make themselves memorable to their audiences,
and sometimes convey messages to the audiences. Itis _ 16 possible that they do
not relay any messages, because they are merely there to provide __ 17 , or to add
to the appeal of the story or poem. The Christmas song of We Wish You a Merry
Christmas is an example of this. “We wish you a merry Christmas, we wish you a
merry Christmas, we wish you a merry Christmas, and a happy new year. Good tidings
we bring to you and your kin: Good tidings for Christmas and a happy new year.” This
song has a strong refrain that 18 the message that we wish that people could

have a happy Christmas, and that this happiness could 19 into the New Year.
The refrain is 20 several times, which makes this Christmas song memorable
and fun.

16. () (a)long (b) highly (c)seldom (d) scarcely

17. () (a)enter (b)entertain (c) entertaining (d) entertainment

18. ( ) (a)transmit (b) transmits (c) transmitting (d) transferring

19. ( ) (a)last (b) letter (c) latter (d) shorten

20. () (a)repeat (b)repeated (c)repeating (d) repetition



= ~ ®¥¢ ! Translate the following passage into Chinese (20%)

The modern phrase “giving him the cold shoulder” actually dates back to a time when
knighthood was in flower. A wandering knight would be received at any castle with a
sumptuous hot meal. The common traveler, however, was a less welcome guest, and
his host would serve him a “cold shoulder” of beef or mutton.

= ~ ¢ #® ! Translate the following passage into English (20%)
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(1) GB

(2) KB

3)TB

(4) MB
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(1) O(n?),

(2) O(nlogn),

(3) O(n%)

(4) O(n*xnlogn?)

7 - dady (stack) > - B4& 70> 35 ABCDE I B FA & B 4 push 45 4 2%
Y o Bk e B 0 R - & pop dp 4 o T AR
EN R mﬁi%l e
(1) ABCDE
(2) EDCBA
(3) EABCD
(4)ABDEC

2 array % Linked list & 7% # queue 2 4cit » T @ ﬁ ? @ FE?
(1) array * ;% 22} X H 7 2 pFarray < -] 20 f24)

(2)array = ;\ Ak Fdp e ~Z pFor* 222 F (memory ) fiz +
(3) Linked list * ;% # queue z_ ~ -] #& % X "L

(4) linked list = 7% 7 & * 3]4p ik

9. Kruskal algorithm 7 f<d -] & & 3 5& #H(minimum cost spanning tree) &_j »+ vk —

a7
(1) Greedy method
(2) Backtracking
(3) Dynamic Programming
(4) Divide-and-Conquer



10. 24 & 4 - f&
1) T hHl
(2) 4P clhi
(3) A 4P~ la

(4) gzt

11 FHF ehpag P D - AL
(1) 2 %8
(2) %07
(3) Bigh 48
4) * =4

12, 3B 2T ER h2 F L B b i
(1) Unicode
(2) EBCDIC
(3) ASCII
(4) Hamming

13. % By 3 Ao N4 H - 9 Watoken £
(1) Lexical phase
(2) Semantic phase
(3) Syntax phase
(4) Code Generation phase

14. s = 3% # (machine cycle) ® #instruction decode #_# 3+ ¥ s crwip B ~ ¢ % &
19
1) 5 ¥~
(2) #A1E ~
(3) s=lRE =~
(4) #j~ & =~

15. 3K quick sort . £ fi-j%(worst case) = p ¥ 47 fe & &
(1) O(n)
(2) O(n log n)
(3) O(n log® n)
(4) O(n°)



=~ B F3E(40% > = 45 8%)
1. Translate (A+B)*D+E/(F+A*D)+C to Prefix notation and postfix notation. (8%)

2. T 7§ e A (Bubblesort) s F &% b= ?(8%)
FOR I1=1TO 4
FOR J=1TO 5-I
IF AQJ) < A(J+1)
THEN SWAP A(J), A(J+1)
NEXTJ, |

3. AR kLA 47 09 37 - (8%)

4, BT REE VB REL N o (8%)
@A+B*C-D-F/G
(b)A*(B-C+D/F)+G

5. 14 Prim i# & 2 K] 2 A $F5E #Hminimum-cost spanning tree) - (8%)
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"o AR Gtk R h A =

= ~ B3 =} PhotoShop ~ MAYA % After Effects = % #c#8 » 3 * & %infe
B3] - nEd F £ P 2 0 (20%)
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CHFEERY - RRCEY R TFE B 22 F 2R

13832 5404 - (10%)

2QE R Y2 FEEA 0 &L F (Bitmap) % » & B (Mector Image) & f&
3 3B B P R RIE - (5%)

3 # | (Usability)) & plzp 5 F 454 - (5%)
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